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QUESTION 1

Identify the data structure with the following characteristics:

?Contains one or more records per subject, per analysis parameter, and per analysis timepoint.

?May be derived from findings, events, interventions and special-purpose SDTM domains, or other ADaM datasets.

?A record can represent an observed, derived, or imputed value required for analysis.

A. General Data Structure (GDS)

B. Basic Data Structure (BDS)

C. Subject Level Analysis Data Set (ADSL)
D. Event Level Analysis Data Set (ADAE)

Correct Answer: B

QUESTION 2

The purpose of the ADaM model is to provide a framework that:
A. enables the tabulation of the raw source data

B. enables the creation of study patient profiles

C. enables the statistical analysis of the data

D. can be used to generate the CDISC ODM

Correct Answer: C

QUESTION 3

Given the following work data set containing Treatment-Emergent Adverse Events:
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subjecE asbhodsys asdecocd aEsesy
ooL NERVOUS 3TSTEH DISORDERS DIZZINESS 1
ooL NERVOUS 3YSTEN DISORDER3 HEADACHE 2
ooL HENWVOUE Z¥ETEN DISONDEDRS HEAD ACHE a
ooL HERVOUS 3¥STEH DISORDER3 DIZZINESS 2
ooL MERVOUS 3YSTEM DISORDERS LETHARGY 2
oo WERVOUS 3YSTEM DISORDERS DIZIINESS i
ooz MERVOUS 5YSTEM DISCORDERS DIZZINESS 2
003 NERVOUS 3YSTEHR DISORDERS HEADACHE 3
u[RK; NERVOUS SYSTEM DISORDERS HEADACHE 3
003 NERVOUS 3YSTEW DISORDERS LETHARGY 2
ool MEDWOUS SVSTEM DISODDEDRS LETHADTY 2
AESEY (Severityi: 1 = Mild, 2 = Hoderate, 3 = Savere
And & Br Seventy table:
Subject
3 (%)

NERVOUES SVOTEYI DISORDENRD

Mild 1 (m
Moderate 1 (ph
Severe £ (Pl

In the space below, enter the numeric value of x for "Severe" events under HEADACHE.

Correct Answer: 2

QUESTION 4
This question will ask you to provide a line of missing code.

You want to present a column header that contains breaks within the header as indicated below.

Period 2
Teeatment

Subjecc

rate
Given the ollowing program:

peuc tepurl JdoLs-Lisdloent siasenl code hepes;
column subject tert zdate :

define subjecc / 'Subject'
define trt / 'Period 2*Treatment'’
define =sdace / 'Dacs’

rumn:

In the space below, enter the option that completes the program (Case is ignored. Do not add leading or trailing spaces
to your answer).

Correct Answer: SPLIT=\\"*\\'
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QUESTION 5

This question will ask you to provide a line of missing code.

The following SAS program is submitted:

prog¢ freq dava=dise:
Linsart code heres

run:

to create the following output:

The FREQ Procedure

Table of site By group

=ite group

Freguency|
Percent |
Row Pet | Tecl

SITEL |

| 2

|
_________ .|________
SITEE |

| g,

| B.
P o T e
Tocal

7.

ig
29

e i e

366
68.41

Which statement is required to produce this output?

A. TABLES site*group /nocol,

B. TABLES site*group /norow;

C. TABLES site*group;

Tocal
243
45.42

£92
o4. a8

535
iobo.oo

D. TABLES site*group /nocol norow;D. TABLES site*group /nocol norow;

Correct Answer: A
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